T

3 8l bottom wire and point A i

jtely long, straight wires run c

prry currents as shown below. The top wire

s| midway between the wires.
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b.) (10 pts.) What is the direction of the

up ~down left right

, 2.) A rectangular frame with dimensions
that it can rotate about line AB, which pass}s

»

A, comes to the frame and then goes around
coming out at point B. A uniform magnetic
page. ‘
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> magnetic field at point A? = ‘
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maéngtic field at point A? (Circle one.)

@ out of page

15 cm by 25 cm is mounted on an axle so
thro\lgh its center. A wire starts at point
he perimeter of the frame 30.5 times before
eld with strength 0.2 T is directed into the

a.) (20 pts.) When the frame is held stil] in the plane of the page, what is the total

‘magnetic flux through the coil of wire encircli
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b.) (20 pts.) When the frame is rotated
voltage difference between points A and B on
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ng the frame?
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at 60 revolutions per second, determine the
the wire as a function of time, t.
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=84 V sin (217t)




